/* func_add.c */
#include <stdio.h>

int Add(int a, int b);

int Input(void);

void Result_Print(int val);
void Intro(void);

int main(void)

{ -
inta, b;
int result;
Intro(); Il AES 2.
a=Input(); I2he oY we
b=Input(); I3 ¥y we
result = Add(a, b); [ISAMS 23l
Result_Print(result);  /Z1tE HZES| ==
return O;

}

int Add(int i, int j)

{
return i+j;

int Input(void)
int input;
scanf("%d", &input);
return input;

void Result_Print(int val)

{
printf("S 4 0ff TS Z 3t - %d \n", val);
printf("****** END ******xx% \n");

k

void Intro(void)

{

Printf("xx START s \n");

printf("F712] M= = ).






[* abso_large.c */
#include <stdio.h>

int Abso_Large(int a, intb); / ZECH4f0| & &= Hi=h

int Abso_Val(int val); I AEOIXto| Mgt izt

int main(void)

{
inta, b;
printf("F 70| e 4 1),
scanf("%d %d", &a, &b);
printf("%d2} %d&m = ZECHZr : %d\n", a, b, Abso_Large(a, b));
return O;
}

int Abso_Large(int a, int b)

if(Abso_Val(a) > Abso_Val(b))
return a;

else
return b;

int Abso_Val(int val)
{
if(val<0)
return val*-1;
else
return val;



/* local_val2.c */
#include <stdio.h>

int main(void)

{

int val=0;

if(1) //1F =74 true

{

int val=0;

val+=10;

printf("ife| X| = H== val : %d \n", val);
}

printf("main@| X| == val : %d \n", val);

return O;



/* glo_vall.c */
#include <stdio.h>

intval; // MY EHZ4= val

void add(int num);

int main(void)

{
printf("val : %d \n", val);
add(3);
printf("val : %d \n", val);
val++;
printf("val : %d \n", val);
return O;

}

void add(int n)

{
val+=n;

}



/* glo_val2.c */
#include <stdio.h>

int val=0; [l A A val
void fct(void);

int main(void)

{
val=10;
printf("val : %d \n", val);
fct();
printf("val : %d \n", val);
return O;
}
void fct(void)
{
int val=20;
val++;



[* static_val.c */
#include <stdio.h>

void fct(void);

int main(void)

{
inti;
for(i=0; i<5; i++)
fet();
return O;
}
void fct(void)
{
int val=0; /I static int val=0;
val++;

printf("%d ",val);



[* recursive_basic2.c */
#include <stdio.h>

void Recursive(int n)

{
printf("Recursive Call! \n");
if(n==1)
return;
Recursive(n-1);
}
int main(void)
{
int a=2;
Recursive(a);
return 0;



[* arrayl.c */
#include <stdio.h>

int main(void)

{

double total;
double val[5];

val[0]=1.01;
val[1]=2.02;
val[2]=3.03;
val[3]=4.04;
val[4]=5.05;

total=val[0]+val[1]+val[2]+val[3]+val[4];
printf("E = : %If \n", total/5);

return O;



[* array2.c */
#include <stdio.h>

int main(void)

{

double total;
double val[5]={1.01, 2.02, 3.03, 4.04, 5.05};

total=val[O]+val[1]+val[2]+val[3]+val[4];
printf("= - : %If \n", total/5);

return O;



[*ar_str.c */
#include <stdio.h>

int main(void)

{
char stri1[5]="Good";

char str2[]="morning";

printf("%s \n", strl);
printf("%s %s \n ", strl, str2);

return O;



[* va_str.c */
#include <stdio.h>

int main(void)
{ - -
inti;
char ch;
char str[6]="Hello";

printf("~ 12 & 2 XL
printf("%s \n", str);

for(i=0; i<6; i++)
printf("%c | ", str[i]);

P 2Xg HE
for(i=0; i<3; i++)

{
ch=str[4-i],
str[4-i]=str[i];
str[i]=ch;

¥

printf("\n\n--H 4 = EX}L--\n");
printf("%s \n", str);

return O;



[* scanf_str.c */
#include <stdio.h>

int main(void)

{
char str[30];

printf("= A = 1),
scanf("%s", str);

printf(" ==l EXIE : %s \n", str);

return O;



